—REZEVLEFHN (FHMITE10AR 1 BUER)

X5 BEHE &%
0.1k ki 1@ 620/
0.1k BIED. 2 k Uk 1@ 830M
0.2 FUBIED. 3 k Uk 1& 1, 040M
0.3k LIED. 4k Uk 1@ 1,250/
0.4 FLIEOD. 5k Uk 1@ 1,460

%ﬁﬁﬁf%?@%§§ QSH%&MﬁF)*ﬁ 1@ 1,670M
HACEELEL =, (0.6 RUBIED TRUKE 1E 1,880M
0.7 FLIEO. 8 k Uk 1@ 2,090
i 0.8 LIEO. 9k Uk 1@ 2, 300/
3 0.9 FLIET Ok Uk 1@ 2,510/
ﬁ 1.0k VLIE2. 0k kil 1@ 2, 720/
_ 20 VI YT EIS 1@ 2, 720 mE
L 0.1k ki 1@ 1,250/
E 0.1 kB0 2 kUi 1@ 1,670M
B 0.2 FUBIEO. 3 k Uk 1@ 2, 090F

< 0.3~ BIEO. 4 kUi 1@ 2, 5100

0.4 FLIEOD. 5 b Uk 1@ 2,930/
%i%g%%?§%££05hyuraahpiﬁ 1@ 3,350M
SRR L=, (0.6 F2LIE0 TRk 1@ 3, 770

0.7 FLIEO. 8 k Uk 1@ 4,190

0.8 FLIED. 9k Uk 1@ 4,610/

0.9 FLIET Ok Uk 1@ 5,020/

1.0k ULIE2 0k 2kl 1@ 5,440

20 VB YT EIS 1@ 5, 440M/nE

—EEYERFHE (BFTEL 08 1 BUK)

X 43 B2 &8

FEREREZBEME (F
PRI EREBITS) H25RBAR | NREFIBICOE 2,820
ICIRET DR ERER R




